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vecteur
V
(1,3)
.
Peu
d'opportunité
avec
un
vecteur
comme
celui-ci
lorsque
nous
devons
respecter
l'armure
de
Bb.
La
cadence
EFA
contient
une
3ce
et
une
appoggiature
:
FA
&
EF.
A
noter
que
la
cadence
est
incidente
et
montre

une
3ce
maj
et
une
2de
min
de
vecteur
V(1,4)





les
vecteurs
V(2,2,6)
et
W(1,1,3)
sont
colinéaires,
avec
k=2.
La
cadence
est
étrange
de
Fondamentale/finale
F
accompagnée
de
sa
3ce
min
inf.
D
et
de
sa
sensible
E.
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V	(1,3)	=	60

les
vecteurs
V(2,2,6)
et
W(1,1,3)
sont
colinéaires,
avec
k=2.
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V
(1,2,5)
divisé
par
W
(1,1,5)=
V
(1,2,1)

Ce
que
nous
voulions
démontrer
avec
ces
8
mesures,
c'est
le
côté
modal
de
la
musique
joint
à
une
écriture
vectorielle.
Dans
ce
qui
suit
Ce
n'est
plus
le
cas.
A
l'oeil
nous
voyons
ce
qui
a
changé,
l'abandon
de
l'armure
de
la
clé.
En
effet,
si
dans
le
premier
cas,
les
possibilités
d'obtenir
un
intervalle
3
p.ex.
étaient
limitées,
dans
le
second
cas
il
suffit
d'altérer

la
note
supérieure
ou
inférieure.
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